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Spoilers
• Small set of operators in SMEFT describes the observables


• Correlations via one-loop RGE 


• Chirally enhanced matching conditions at one-loop


• Pheno analysis can give hints on model building


• Tree-level matching + running can capture the dominant effects of NP
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Picture from Fodor’s talk

<latexit sha1_base64="mIPOV+lsOH9wiRPWc4D9c+IP5K8="></latexit>

�aµ = (113± 68)⇥ 10�11

<latexit sha1_base64="B7Z+BbfphqTZsurU8P3lOCCStcM="></latexit>

�aµ = (251± 59)⇥ 10�11

Theory Initiative

BMW lattice



�11

���� ��� ��� ��� ���

���

�

�

�

Λ (���)

|δ
� μ
|×
��

-
�

(�-�)μ ��������

���� ��� ��� ��� ���
��-�

��-�

����

�

Λ (���)

|κ
μ�
-
�|

���

��-���

���

�1,μ(Λ)=1
�2,μ(Λ)=1
�3,μ(Λ)=1
�4,μ(Λ)=1
�5,μ(Λ)=1



�12

Top-down approach 

or 

How effective is EFT?

1 - Two-Higgs Doublet Model 

2 - Scalar LeptoQuarks 
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2HDM

Two scalar doublets with hypercharge +1 
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2HDM
(g-2) dominated by two-loop Barr-Zee diagrams (Ilisie: 1502.04199)
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2HDM
(g-2) dominated by two-loop Barr-Zee diagrams (Ilisie: 1502.04199)
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2HDM

Tree-level matching to SMEFT

<latexit sha1_base64="fVAOrgnsTC5avsp81BhHx5o2n2o="></latexit>
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Summary
• Small set of operators in SMEFT describes the observables


• Correlations via one-loop RGE 


• Chirally enhanced matching conditions at one-loop


• Pheno analysis can give hints on model building


• Tree-level matching + running can capture the dominant effects of NP



�21

Backup
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Ċ5,` = g1 (Yq + Yu) ytC3,` �
3

2
g2ytC2,` +

h
2
�
Y 2
e � YeYq + YeYu � 2Y 2

q + 5YqYu � 2Y 2
u

�
g21

� 3g22 +

✓
Nc �

1

Nc

◆
g23 + y2t

i
C5,` +

1

8

⇥
�4 (Yq + Yu) (2Ye � Yq + Yu) g

2
1 + 3g22

⇤
C4,` .



�24

2HDM
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